B%R)—45 6H23 (1)

HOSERAFE R R—Y 22—
(E4E] HEF - 52 (B) - 35t - Bk - 4l - /MG - FI

¢ Ad—F+ 1. 2#f
NEE S # P
1 9:30| DMCJOY 1 - 2 ZXHAWN CUE R T e o
2 | 10:10 ARL 1 - 0 AR IE RO
3 | 10:50 ZEEFC.jr 0 - 0 A Efy B E-#%% A
4 1 11:30 VAS S 0o - 1 #BLL IE RO
5| 12:10) &EFV 1 - 1 FEBEFC jr IE RO
6 | 12:50| BRA 0 - 2 AE S CUE T R E T
7 | 13:30] DMCJOY 0o - 3 A B A E-%¥ A
g8 |14:10 |®masrn T 7 1 B34 B mE A
2 P 3
9 | 14:50| =BFC.jr 1 - 0 VAS S CIE L =
10| 15:30|  4Ef h - 1t AR CUE T R E T
& Bo—F 3. 4%
\E% & xt B =z H
1 9:30| EiffE= 6 - 0 #HEET CIE S
2 1 10:10] YLAFL-¥'* 6 - 0 7MW -LEIW| wi £-8%. 5
3 | 10:50| #~rE 3 - 1 EHEE= B . E-%¥ A
4 | 11:30 BIRg 0 - 0 VJLATL-Y'¥ B k¥ A
5| 12:10| #@=®EMm 0 - ey B B . E-%¥ A
6 | 12:50| 7K -VEWL 1 - 6 B & B . E-%¥ A
7113:30| mwgE= 0 T O mm-oumL| mexeowmen
1 Pk 2

8 | 14:10| #@®R™ 0 - 6 BE & B E-%¥E A
9 | 14:50| #k~E&E & - 1 YLATL-V CUE TR R T




m%E)—45 6A23(1)
[{B:1&]

® Ad—F+ 5. 6f8

BEMEHEERRESS

#E - TH - BE-EH - EX -2 (R) - =W

\a% Fe xt L1 =z H
1] 9:30| &k 0 6 BEIHFE CUE S S S
2 | 10:10 =% 1 4 il CUE R L
3 | 10:50| 49 xFvyX 2 1 BERER CUE PR S 2
4 | 11:30] EHfLE 1 3 E 73 CUE R
5 | 12:10| k& 0 9 K WAZMIYNG|  EIEE-R¥ A
6 | 12:50| BHWH#HE 7 2 YHRXVUX| i E-#% A
7 | 13:30 =% 1 8 i CIES R = S =
8 | 14:10]  fHRT 2 1 ER A=y B k- k¥ A
9 | 14:50| EHERK 0 11 K WA ZbhonG| s E-%¥: &
¢ Bao—F+ 7. 8#f
\H% i i B, = ¥
11 9:30| & 0 0 TV 1uThkFH| wiE:-E-%¥: A
2 | 10:10|&#= -8~ E 0 2 EXE7HE B E-#%E A
3 110:50] J\K 0 2 EWFEEDE| #E-E-%E A
4 | 11:30] <RA 0 3 FUITWYEE| B E-%E A
5 112:10f @&m™ 2 1 TH CUESEP R S =
6 | 12:50(70Y" 178 FH 0 1 J\K B . £ -%¥ A
7 | 13:30|&#E-BsE 0 5 F477 mviEH A E-%¥ A
8 | 14:10) ExX7E 1 1 TARH CUE R L
9 | 14:50| L FEEDIE 1 1 TH Wi E-#¥ A




148 HOS4#BIIL R R— Yt v 42— Aa— b

DMCJOY KHEIVN W ZRFC. jr ) R | 7R | X8R |BXE| B
DNCJOY | e 1 - 2 ® o — 3 o | 1 [ 5 | 4] 4
XHBayvh WO 2 — 1 A1 — 1 4 3 2 1 2
= B FCjr A1 — 1 A 0O — O 2 1 1 0 3
& o 3 — O A O — O 4 3 0 3 1
24 HOSAE LR R—Y 4 — Aa—F
EBLL B A RE B | Ba | kE |BRE| E
8 m o 1 - oo 1 — o > [ o [ 2 | 1
B3 Bl o — 1 ® 0 — 2 0 0 3 -3 3
VA %4l o — 110 2 - o 3 2 1 1 2
3#H HOS4 Bk R R—y 2% — Ba—+h
EHE= #REA R s R Ba | B8 | &R [/JKE| IBA
= it % = O 6 — ol@ 1 — 3 3 7 3 4 2
# M ® T|® O — 6 ® 0 — 7 0 0 13 | -13 3
% +~» E|O 3 - 10 7 - o0 6 10 1 9 1
4 %8 HOS4£EIL R R—y+ >4 — Ba—Fh
JVATL-Y" ¥ 7ME -LE I BErg R | B8R | &R |BXE| B
JVAT V-9 4| O 6 — oA 0 — o s [ 6] o] 6 [ 1
TWE -V E L@ o — 6 ® 1 — 6 0 1 12 [ -11] 3
B Bla o — ol 6 — 1 4 6 1 5 2




5%

BRUMHERIRZRESS Ad—+F

N3 BEE YHXFxy X B E R BN VYN || R | BR | KR 8K E| IBLL
I i ®@0—6 ®@0—9 0 0 15 | -15 5
B oW OE E 06—-0 07—-2 6 13 2 11 2
HOXFxy X ®2—7 02-1 3 4 8 -4 3
B oW OE W ®1—2 ®@0—11 0 1 13 | -12 4
FMATZhAYNG 09-0 O11-0 6 20 0 20 1
6 #f ERTHEEIREESS Aa—+
= {ERR ERE ER 3 R | B8R | &R |BERE| B
= o ®1—4 ®1-8 0 2 12 | -10 | 4
il B O4—1 O02—1 6 6 2 4 2
T = @12 ®1—-3 0 2 5 -3 3
Gl | oO8-—1 0O3—1 6 11 2 9 1
7 #8 BEHmHEFEIRRESSE Ba—k
=Ll VY TR JAW S EHFEZDE TH Ba | B8R | &R |BRE| B
= 7] AO0—0 02-—1 4 2 1 1 2
IV 1uTkeH| AO0O—O ®0—1 1 0 1 -1 5
AN X O1-0 @02 3 1 2 -1 3
EHFEZDIE 02-0 A1—1 4 3 1 2 1
T H ®1—2 A1—1 1 2 3 -1 4
8 BEHmHEFEIRRESRSE Ba—k
EHME-BrE BExXTR TRAH T 477 e E R | B8R | &R |BXRE| B
BEE B ®0—2 ®0-5 o | o | 7|71 4
E X 75 Rk 02-0 A1—1 4 3 1 2 2
<~ X A A1—1 @03 1 1 4 -3 3
7477 S H O5—-0 0O3—-0 6 8 0 8 1




F49ARRRAR—VIDERY v Hh—BREREKXS
B0y oYy h—XRKE FER)
6A248 (B) REstb—F A2k
NERIS, 1 F—LNESARICHIBTE S,

EEIOvITRAEAF
HOS4 Ba 4t Bﬁﬁ’% BIRE AN H 15
AR—Yt 42—
3 0
©2:50
2 0 ¥ AKRE 0 1
®12:10 @1:30
1 0 &2 P2 | 3)Ki1 2 1 E¥ B 1 2
19:30 @10:10 @10:50 @®11:30
e:2 1)) ®12:50 EH@ e Q) ®2:10 E¥H©Q
EH® =46
1 2 3 4 5 6 Ji 8
B ' 5 i 9 s il
18 2 F T ) Ba 1
L C Ins
| J
< r
_V

EIHI'H'T —:oF\‘l



F49EARRRAR—YDVEHAY v H—REBEXE

GEgJDny oY yh—RkKE

6A24H (B) RBib—F A2k
MERIE, L1 F—LNESARITHIETES,

FPER)

D‘:'TEa BEITOYIRRAEAE
B =1 RILR =LA NS HHS
HEFIRRESS
©2:50
2 3 ¥ K 0 7
®12:10 @1:30
2 3 e @) 2 1 2 =3 6) 0 7
19:30 @10:10 @10:50 @®11:30
EH ®12:50 EHD EHO ®2:10 EH©Q
EH® =46
1 2 3 4 5 6 7 8
= & ® B : i H D
o h X = : A 1 =
E3l = T g H
£ L 5% %




